Priblem 1: “A brief history” of life in the universe

1-1. 7= 1010/ (1)¥2 = 1010 K (10 billion degrees)

1-2. 7= 1010/ (180)12 = 0.7 x 109 ~ 109 K (1 billion degrees)
1-3. £=1[1010/(3 x 103)]2s = 1013 s = 3 x 105 yr

1-4. t=1(1010/103)2s =101 s =3 x 106 yr

1-5. 100 K

1-6. 10K
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1-1. 7=10%0/(1)¥2 = 1010 K (100 f& K)

1-2. T=1010/(180)12 = 0.7 x 10° ~ 109 K (10 {& K)
1-3. t=[1010/(3 x 103)]2s = 1013 s =3 x 105 4
1-4. t=(1010/103)2s =104 s =3 x 108 4=

1-5. T=1010/(9 x 101512 =100 K

1-6. T=1010/(5 x 101112=10 K
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